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I can sublract using column method
I can reason how ko subbract wsing column method

| can subtract using column addition

| can discuss common mistakes when using column method.

I can subtract wsing column method and dienes

No Nasty Maths
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WALT: I can add .and sublract to solve prohlems

| can use column addition and subtraction to problem solve

I can explain how | solved the problems proving that | am correct

I can use column addition and subtraction to problem solve

I can explain how | solved the problems using drawings to help me

| can solve word problems with support

No Nasty Maths




Recap
2 4 |5 3 6 2 3 5
- 1 5 |2 - |2 3 4 + 14 |7
If you are subtracting and you do not have enough, you should:
a) take away from the bottom number instead.
b) exchange from the tens.
c) exchange from the next biggest column.




How to use 'RUCSAC' to help us to solve word problems

Understand
Read the question. Understand the question. Choose the correct
What is the important What do you need to method of calculation
information? find out? and operation(s).

Solve the problem. Answer the question. Check your answer.
Make sure you follow What were you meant Use the inverse to check
the steps. to find out? your working out.




Read the word problems with your partner.

Use 'RUCSAC’ to find the important information and what method you

need to use.

If you have time, try and find an answer.

There arje 345 peopl€ at the fiotbrll match. 134 legve at
halfitime. H peoj ft?

Mr. Jolley has 560 Bright|Spark awards. He gives qut 72.

How many Bright Spark awards are left?

During spring 234 pITnts grow in the garden. In summer
another 146 Ianfs g

A |

ow. How many plants are in t arde
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Read the question.

What is the important
information?

Understand

Understand the question.

What do you need to
find out?

Solve the problem.

Make sure you follow
the steps.

Answer the question.
What were you meant
to find out?

Choose the correct
method of calculation
and operation(s).

Check your answer.
Use the inverse to check
your working out.
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Read the question.
What is the important
information?

Understand

Understand the question.

What do you need to
find out?

Solve the problem.
Make sure you follow
the steps.

Answer the question.
What were you meant
to find out?

Choose the correct
method of calculation
and operation(s).

Check your answer.
Use the inverse to check
your working out.
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Read the question.
What is the important
information?

Understand

Understand the question.

What do you need to
find out?

Solve the problem.
Make sure you follow
the steps.

Answer the question.
What were you meant
to find out?

Choose the correct
method of calculation
and operation(s).

Check your answer.
Use the inverse to check
your working out.




| can solve missing addend Ia

| can explain how to solve missing addend problems
| can solve missing addend problems that use 3 digit numbers
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Recap

What info

rmation in these questions is

helpful? Use'

RUCSAC]

to help

you.

At th

e suj

sermarket, there are 45 apples and 134 bana

nas. How much frui

IS there al

togther?

The |

baker

has |32 cakes.|She sells|13 of

them. How many cakes

does she

have

left?

Understand
Read the question. Understand the question.
What is the important What do you need to
information? find out?

Solve the problem. Answer the question.
Make sure you follow What were you meant

the steps. to find out?

Choose the correct
method of calculation

and operation(s).

Check your answer.
Use the inverse to check
your working out.




Lesson 3 — Missing addend problems

Challenge — What is the missing number in the box? Explain how you worked it out.

47 + =54

Mega Challenge — What is the missing number in the box? Explain how you worked it out.

329+| |[=743
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We will need to learn these 2 words

Addend - a number that you add to another humber

- the|total amount after adding addends togeth

The is always the amount

Addends are always part of the amount

Can you think of an example of an addend or @ sum?




ADDEND +|ADDEND =
B ADDEND ADDEND
b 2+ |34 F
B 42 34
Label one bar model tog show where the and addends go.
Label the other bar model with this number sentence 57 + 23 = 80




ADDEND

ADDEND













Can you spot all the related facts?

Number Fact Families
x and +

|+2=3 3=|+2

Up to 10 Up to 10

Up to 20 Up to 20

Up to 50 Up to 50

Up to 100 Up to 100
Negative to <10 Negative to <10

Negative to -50 Negative to -50

Instructions [T morks

Addition and Subtraction up to 100




WALT: | can solve missing number subtraction problems
| can solve missing subtrahend problems

| can explain how to solve missing subtrahend problems
| can solve missing subtrahend problems that use 3 digit numbers

I can salve missing number problems




Reca
What does faddend' mean?
What does [sum' mean?
Tell me which numbers are addends or sum in thi
number sentence
3 2 4 + 11 56| 2 = 4 7 6
Solve this:| 3 |4 | 2 + ? |= 4 9 |8




Lesson 4 — Missing subtrahend problems
Challenge — What is the missing number in the box? Explain how you worked it out.

56 - =15

Mega Challenge — What is the missing number in the box? Explain how you worked it out.

477 | |=285




We will need to learn these w.ords

Subtrahend - the number you .are
taking .aw.ay

Difference - the .amount between the
subtrahend .and the .minuend.

Can you think of .an example for each .one?
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- Slthl‘a hend|= dierrence
subtrahend difference
difference subtrahend
Label one bar model to|show where you can put the
subtrahend-and difference.
Label one barmodel to show this subtraction:
186 - 32 =154
Tell me why both parts gould|be a difference or a subtrahend?




- subtriahend = difference
subtrahend difference
| | | | | | | | | | | | | |
difference subtrahend
both parts could|/be a|difference or i subtrahend because subtradting
[
either part from the|who e will Iea\*e the other part as the differe‘nce
40 60
40 60
|
J’[ _40=60 AND 10( - 60|= 40
















WALT: | can solve missing number subtraction problems

| can solve missing minuend problems

| can explain how to solve missing minuend problems

| can solve missing minuend problems that use 3 digit numbers

I can solve missing number problems

In folder










Lesson 5 — Missing minuend problems
Challenge —What is missing number in the box? Explain how you worked it out.

-43=78

Mega Challenge — What is the missing number in the box? Explain how you worked it out.

-927 =87




We will need to learn these w.ords

—

Minuend -

e

Can you think of an example for each .one?













Can you solve missing
number subtraction problems?

(Click on 'Up to 100°)

https://www.topmarks.co.uk/maths-
games/subtraction-grids




